Parents guide to
calculation strategies
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Gr'9 = 68°¢ - V€6 682 = G¥'9 - ¥€6
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subtraction
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¢L = ¥Z + 8y

8y = ¥¢ - 2L




¢L = ¥2 + 8 2L = 8% + v¢e

8y = p2 - 2L v2 = 8% - 2L
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division




Grouping

Dividing can be done in two ways :
'grouping’ and 'sharing.’

When grouping, we repeatedly subtract ‘groups’ of the same size
from the total, to find the total number of ‘groups.’

Here's an example:
Eggs come in boxes of 6.

How many boxes would we need for 20 eggs?

— ,_.\ TN A o /“"-\/“ P

U Bl

(F " . What about

the two eggs
that are left
over?

The question asks 'How many boxes would we need for 20 eggs?'

From the picture above, we see that we have 3 full boxes of eggs,
but we need another box to put the two eggs that are left over.

20 + 6 = 3 remainder 2
Answer : 4 boxes are needed for

20 eggs




Sharing

Dividing can be done in two ways :
'grouping’ and 'sharing.’

When sharing, we distribute the total evenly between a specific
number.

Here's an example:
A bag contains 9 oranges.

The oranges are o be shared equally among 3 children.
How many oranges will each child get?

one for you......... one for you

3 oranges 3 oranges

3 oranges

9 +3 =3

Answer : Each child gets 3 oranges
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8€ =L +99¢ [ = 8E =992

992 = 8€ X L 992 = L X 8¢ 997 =
96 + OIZ2 = 96 + OL + OL + OL

G = L X 8
0L = L X OI
0L = L X OI
OL = L X O

(L x8) + (£ x0£) =/ x 8¢
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